HP 45 Gallon - Gator Deluxe Cargo Box Sprayer

PIN Prefixes: Model Number Description PIN Prefix

LP22908 HP 45 Gal. - Gator Deluxe Cargo Box

Revised: 1/02/15



ITEM # DESCRIPTION PART # |QTY. ITEM # DESCRIPTION PART # |QTY.
1 |Gator Tank Support Front ST43551 1 27 |1/2 Barb x 1/2 NPT M. ST43423 1
2 |Gator Tank Support Rear ST43550 1 28 |Sump Strainer 1/2" ST43422 1
3  |Gator Tank Support 45 ST43556 2 29 |Hose Holder 1/2" ST43663 1
4 |Gator Sprayer Tie Down ST43553 2 30 |#10-24 x 1" Truss Head ST65001 4
5 |Gator Boom Support ST43554 2 31 |Hose / Oetiker clamp 1/2" ST43651 5
6 |Gator Boom Support ST43555 2 32 |[1/2 NPT, Tee ST43424 1
7 |Boom Support Extension ST43557 2 33 |Relief Valve ST43591 1
8 |Tank HP 45 Gallon ST43574 1 34 |Gauge ST43593 1
9 [3/8 Plastic Knob ST43289 | 4 35 |3/8"Barb x 1/2"NPT M Fitting ST43425 1
10 |Rubber Bumper ST43176 | 10 36 |Hose, Black Rubber 1/2", Per Foot| ST43418 | 20ft
11 |5/16 x 3/4 Flange Bolt ST65007 | 14 37 |1/4" Bent Pin ST62008 1
12 |Rubber Foot ST43578 2 38 [HP Handgun ST43435 1
13 |Tank Lid 6" ST43175 1 39 [5/16" x 1-3/4" Square U-Bolt ST43315 2
14 |Hose Hanger ST62006 1 40 |Pump Head, Replacement Kit ST43572 1
15 [5/16 x 5/8 Flange Bolt ST65011 2 41 |Wire Harness Switch ST43472 1
16 |Plastic Wing Nut ST43498 1 42 |Gator Power Harness w/ Fuse ST43726 1
17 |1/2" Straight Barb Fitting ST43426 1 43 |Pump HP, 4.0gpm 12VDC ST43791 1
18 [Drain Cap w/ Seal ST43516 1 44 |Elbow 1/2"Barb x 1/2NPT ST43803 1
19 |5/16 x 3/4 Carriage Bolt ST65006 | 14 45 |Directional Valve ST43430 1
20 |5/16 Flange Nut ST65008 | 30 46 |Nipple 1/2NPT x 1/2NPT ST43802 1
21 |3/8 x 3-1/2 Carriage Bolt ST65002 | 2 47 |1/2"Barb x 1/2"NPT F, Fitting ST43587 | 2
22 |3/8 x 1-1/2 Carriage Bolt ST65005 2 48 |Spacer ST43725 2
23 |Square Washer 2" ST43506 2 49 |1/4" Nut ST65041 2
24 |3/8" Lock Washer ST65004 4 - Label, Caution (English) ST43488 1
25 |3/8 Flat Washer ST65003 2 - Label, 45 Gallon ST43523 1
26 |Hose, Black Rubber 3/8", Per Foot| ST43286 | 1ft - Label, John Deere ST43487 1




